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Candidate must write first his / her Roll No. on the question paper | g
compulsorily. |
2) WY U TR e SE ¢ |

All the questions are compulsory.
3) el O IR & TS FR-gfeer A @ ford |

Write the answer to each question in the given answer-book only.
4) fom e 8 afen TS €, 3 A S I T w @ for

For questions having more than one part, the answers to those parts
are to be written together in continuity.

T BLCLL Y

S—09-Mathematics 1205




;Of

*

)]
rk
nt

i)

| S-09_Mathematics

3
g - R

SECTION - A
(T s ww)

(Objective ang Very Short Answer Type Questions)

) ﬁqm“ﬁ%mm“@ﬁmﬂﬂamm v & § .

Answer the following questions and write them in the answer book by selecting the
correct option.

196 % srvien orEUst S ur @ e @ -

1l
A 1 | 2
|) 4 q) 6
The sum of the powers of the prime factors of 196 is
A) 1 B) 2
C) 4 D) 6
gfe feama wfiemo x2—h¥4;0 ¥ A TR R, A kW TH o - ]
@) £l W £2
q) 13 | 3 *4

If roots of the quadratic equation x* —kx+4 = 0 are equal, then the value of
kwill be -

A) £ B) +2

C)+3'4. D) +
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D %648y

S q) 2

q) 3 3 4
7

v)

The distance of the point (3, 4) from the y - axis will be -

A) 1 B) 2

C) 3 D) 4

+2y=1l RNeEraamms - 1
) (1,4) ) (2,3)

R (3,5) A (L3)

The pair satisfying 3x + 2y =11 is-

A) (1,4 B) (2,3)

C) (,5) D) (1,3)
ammmsﬁx2+10x+ﬁ=0m%%ﬁam@m: [1]
A 8 q) 30

f) 46 %) 64

Discriminant of quadratic equation 3,/3x2 410, ++/3 = will be:

A) 8 B) 30

C) 46 D) 64
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N afe 18 5
vi) 4 b, 3 amm i d A a+ b 1 7 B

#) 7 7 1l
w 15 | 7 19

If 18, a, b, -3 are in A.P., then the value of @+ b will be :

A) 7 - B 1l

C) 15 D) 19

vi) 3sec45° cos45° &1 UH g -

.0 )

S a3

Value of 3sec45° cos45° will be:

| A O | .B) 1

0 2 5 3
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viii) ﬁﬁiggranghnf%ﬂﬁﬁiFﬂEﬂgEfﬂiﬁifQGQWii?ﬂﬂFﬁiﬁ,Eﬁaﬁﬂﬂi%._
¥) fugg

9) =g
W) e #3) Ry |
A chord of a circle, whoge length is twice the rady,g of the cirele i8 gy
A) Sector B) Diag eter
C) Area

I
AH) 1Tk ) 20
q) 339k 3 44uh
Radius of a ¢jrle i$ 3.5 cm Find its circumference
A) llem | B) 2cm
C) 33cm D) 44cm
X) mm,wwm%ﬂﬁﬁtﬁé,wﬁwwm@m— [1]
%) 6 A
W) 8 A 9wk
The total surface area of a cube is 486 cm?. Measure of side of the cube wil
be -
&) Gom B). 7cm
C) 8cm | D) 9em
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n | 7
) F3,5,7,4,2,1,4,3 s 4 o gt - | [
B 1 7 3
W4 o b
The mode of ~the.distribution 3,5,7, 4,2,1,4,3and 4is-
A) 1 SRS R
C) 4 | D) 7
i) G TR ) S 4 % g i o R s O B (]
1
) ) ) 3
; |
q) 2 1) 1.

In a throw of a die, determine the probability of getting a number more than 4 :

1
B)E

1
A)E

c)% | D) 1

) ﬁnﬁi@anﬁﬁﬁmwﬁzﬁqﬁm@mﬁ%ﬁm

Fill in the blanks in the following questions and write them in the answerbook.

) 957 152 HEw gugaes (HCF) A 1]
Highest Common Factor (HCF) of 95 and 152 is
i) gewREewfgR__ Ty Y et < wewd gl (1]

. .
tangent can be drawn from a point on the circle.

' ﬁﬁ" )
. o Py
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1)  cos?45° wmum H 1]

The value of cos?45° is

M) Wwh T s wte iR we i) | (1]
‘The common point of the circle and its tangent line is called

V) AR5, 7,9, x W waww wem 9 @,/ x w A am| [1]
If Arithmetic mean of a distribution 5,7,9, x is 9, then value of x will
be

vi) 2 UrEl U WY S W s a7 o i g [1]

In a single throw of two dice, probability of getting a total of 7 will ',
be

3) R FIWEF. ezl
Very short answer type ciuestions.

) ke am e g 3x -2y =0 @ ke + S5y =0 W I T B2

(1]

For which value of £, linear pair 3x —2 y=0and kx+5y =0 will have Infinite
Solutions? '

i) R W ax® + b+ o= 0 % T T sferrd g v 1]

Write the Sridharacharya formula to find roots of quadratic equation

ax> +bx+c=0-
if) ﬁ;{:ﬂm Gt (A.P.) 1 5w ug “q” W& HESR “d @, ?-ﬁq"‘mqamAm?[ll
What will be the Fifth term of a Arithmetic Progression (A.P.) whose First
term is “a” and common difference is “d ”?

1205

S—09-Mauthematics




> | (1]
e sgf @ qhonfvg SR

Define simjlar figures.

| [1]
2tan3(°
1= tan?300 * W 7 it

] 2tan30°

Flﬁd the value of m

X, i [1]
1—cos?@ HHA @ =60° R 7@ Hifel

Find the value of /] _ cos2g at 8= §0°-

1 p HAR &
10 v S=ft e & fiver & gt w o farg o srawa o 30° 1 fag A
JNER A it et Feft?

i i rthis
the top of 10 meter high tower, angle of depression at a po?mt onea
m . \
1;Z)O° What will be the distance of point from the base of tower?

Jeaier BE ) AT T TR B B TE—E F I [:./3 D, A GF W IA
e | m
0T A Hife

{0 of length of a vertical rod and length of its shadow is ] : /3 , then find
If ratio
the angle of elevation of Sun.

oo v O 0 SR 7N g O R 5 &t R g P &t g o ) et Y
1
;ﬁqmmm%m [1]

ircle with centre O and radius 3 cm and draw two tangents to the
Draw i cerZ point P which is 5 cm away from its centre and write thg
circle from

measurement of them.
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X)

4) uitE dEn —_ W e TR faRe

Sﬁﬁm@mw@ﬁﬂﬂaﬁz 3 *Wﬁm%'?ﬁwﬁm
g feafae) ]

Draw a line segment AB of length 5 cm and diyide it into the ratio 2 3, Write
the measurement of both the parts.

anwﬁwgwqamﬂgﬂhﬁﬁmﬁmmmmmww
i (1

If the sector of a circle is a quadrant of that circle, then Wh’flt Will be the
measure of the angle formed by the sector on centre?

I TR W Ut T Szﬁﬁ@@ﬁﬁﬁwﬁm@m%lwﬁ%m@a
' w7 il (1]

A card is drawn from a well shuffled deck of 52 cards. Find the probablhty of
it being a ten. : '

e - 7

SECTION - B

13

125 (2]

Write down the decimal expansion of the rational number — 13

125°

5) @R x° - x—6 F YTH A Hirvg | 2]

Find the zeroes of the polynomial »? — , _¢.

S—-09-Mathematics 1205
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TS it 4x2—12x-9=0%q\?’ﬁﬁﬁﬁﬁ‘wm@' [2]

Rl (0, 0) aiv (5, -3) w sived ot Yrae 3 wea fag & Frdwiw T ARz [2]

Find the co-ordinates of the mid point of the line segment joining the points (0, 0)
and (5, -3).

U A i T st AR 6 o 3w R § 40 e s el @ e @ wets gl
I=TAIST 0T 60° A Tt 30° A A 2 HAR f Fnd 7 R [2]

b

The shadow of a tower on a level ground is increased by 40 meter, when the
altitude of the Sun changes from 60° to 30°. Find the height of the tower.

9) 6ﬂ:ﬁgmasmaﬁ@m@‘ﬂﬁﬁmﬂﬁmaﬂ!ﬁﬂ@amﬁgﬂﬁmﬁm
. g
foraeht wed R e B A e el B < TR 2]

Construct an equilateral triangle whose measurement of side is 6 cm and then

2 .
r triangle whose sides are - times the corresponding sides of the

construct anothe =
given equilateral triangle.
0) 4%%@*@'@«%@@!@%@1@@@@@% N [2]

Draw 2 pair of tangents to a circle of radius 4 cm, which are parallel to each other,
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If the area of the two similar triangles are equal, prove that they are Congruen;o

2]

12) o 0 ot frean 7 2ef & e oo g0 g R e 0n 60° 1 T B0 3 ey
T it S 2]

Radius of a circle is 7 cm and the angle subtended at the centre by an arc is g,
Find the area of this sector. ‘

13) @@%mﬁﬁﬂmm@mﬁ%mmqﬁaﬁﬁ%wﬁmmﬁ@m lsawﬂaﬁz
6ﬁth§|m%=$wquﬂaémmﬁml 2]

The slant height ofa frustum of a cone is 4 cm and the perimeters (circumference) |

of its circular ends are 18 cm and 6 cm. Find the curved surface area of the
frustum.

14) Jv e, R & sl 1 o 64 i B, & wor werwl 9t FemeR v S S A 3l
aRumdt e T g dEwA TR SR 21|

Two cubes each of volume 64 cm? are joined end to end. Find the surface area of :
the resulting cuboid.

15) fam SrvaRe S T e [ Sifd) 2]

x123456 _
f245422 }

Find the mean of the following frequency distribution

X | 2 3 4 5 6

p—
—

F 22121 4] 2] 2
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T R 8 e 2o .
R T H, 5 e 9 afit 2 | 9 81 39 Tosat § 0 weh s g e S
T SR & R Frapren wran s - 2]
() TR
marbles, 5 white marbles and 2 green marbles. One marble is
at random. What is the probability that the marble taken out is :

O gy

| A bOX Contains 8 re d
g taken oyt of the box

e o2l

W) red? (1) not green?

uus - |

SECTION - C

7) TR v 40 gTeTEs QUi @ A i R S 6 @ s 3 |

[3]
Find the sum of the first 40 Positive Integers divisible by 6.
18) =@ Frgst = 5% T Hfte Rreek v (2, 3), (=1, 0) 7em (2, —4) R 3]
Find the area of triangle whose vertices are (2, 3), (=1, 0) and (2, -4).
9) o el F Bl & W e e 1 Ry 7e €| 3w - i [3]
T 0-10 | 10-20| 20-30| 30-40 | 40-50
sty 4 28 42 20 6

The marks of students of a class are given in following frequency distribution.
Find their median.

farks Obtained [0-10 | 10-20 | 20-30 | 30-40 | 40-50

No. of Students | 4 28 42 20 6

Mg,Mathematics : 1205
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20) %OaﬁﬁwmﬁgTaammTPmTQ@?ﬁ@%'%%%

ZPTQ=2,£0PQ #| 3]
Two tangents TP and TQ are drawn to a circle with centre O from an exterpa]
point T. Prove that ZPTQ=2£0PQ.

g - 4
SECTION - D
21) P o i gm =t arevelta A g g iR : (4]
x+y=14
x—-y=4

Solve the following pair of linear equations 'grephically :

x+y=14
x—y=4
Feat/OR
o e 3 10 Rrenfhit 3 v i wdeh sl i wm o 9R orsfedl 9 don e @
e @ 2 ot R, 39 R o oo e s Fremn i g

10 students of a class took part in a mathematics quiz. If the number of girls is 2
more than the number of boys, represent the situation algebralcally and graphically.

22) g it s : - | ]

lﬂ‘& =cosecA—cotA
V 1+cosA :

Prove that :

’Lﬂ =cosecA—cotA
1+cosA

Jar/OR

S—09-Mathematics 1205
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(sin A+ cosec A)2 +(cos A+ sec A)2 _7+tan® A+cot’ A

Prove that -

(sin A+ cosecA)2 +(cos A+sec A)2 _7+tan*A+cot’ A

B) P e den w agew W S

i

10-25

25-40

40-55

55-70

70-85

85-100

AWERAT

6

20

44

26

3

Find the mode of the following frequency distribution :

Class

10-25

25-40

40-55

55-70

70-85

85-100

Frequency

6

20

44

26

3

sreEat/OR

Fr TERET ST 1 WiEA {a R

EL

0-20

20-40

40-60

60-80

80-100

6

10

13 7

4

| =

Find the mean of the following frequency distribution :

0-20

20-40

40-60

60-80

80-100

6

10

13 7

4

Class
Frequency

M9—Mathematics
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